[0 | [

AD| 13 20

A>T v AR LM LEY,
& /ﬂﬁ? %IB% Fﬁﬁz =

9 - 12060
% 2ot [%

[2:60 ~ 3336 L
BB Y EY

00 ~
]3:30 ~ |6 .00

O XNEed T4 % v, $150%
/J?o

@ A\FoEas(z B NEsEMER
ANLTES D,

@2Ber%e L ARNBL S L 6d
LR RUF L 10 B L AEA) 53k 8
LTt v 7,

@ 1:ncLBIR5E v d DR,
<B,ttHy

PR &

MEM ., ’(@ﬁw’
BIbTTooR N
204 M LA

'MM AR

L T#%ﬁmﬁf%ﬁﬂmﬂx)%
mm #rt%r‘/\o%%@@ﬂ

BRI = £ e 5\ ru» zgt

TG R EEY - N
T3,

fFUJ‘I“”

'f_:! s

77/<ﬁ /\7\/\5
ﬂ,u lo% ()17m)
D o] (lo2m)

Biw 204 (sim)
Bry o3 (854)
15{1 |2 (82)

@Iﬂ@*ég F&ﬂf‘)f*)

ﬁfiﬁ

cta‘?‘m—ki‘f—



